DIVISION AND MULTIPLYING BY 10s (H - ST 4)
DIVISION BY 1000

Name:

Time:

Score:

“n- 540000 + 1000 =

2849000 = 1000 =

w8 272000 <+ 1000 =

224000 = 1000 =

w5 306000 == 1000 =

w6 129000 <+ 1000 =

4834000 + 1000 =

45593000 <+ 1000 =

W) 217000 = 1000 =

50614000 < 1000 =

Mathematics: Division - Level 2 - Horizontal - Set 4
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894000 + 1000 =

169000 + 1000 =

721000 =+ 1000 =

242000 = 1000 =

939000 —+ 1000 =

263000 = 1000 =

376000 = 1000 =

437000 + 1000 =

330000 = 1000 =

860000 =+ 1000 =
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